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= HIGHLY ERODIELE LLAND CLASSES - HIGHLY ERIDIELE AND
HIGHLY ERODIELE LAND FOTENTIALLY HIGHLY ERODIELE
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ALTAVISTA 1100 0.5 ERROR 175 O.37 4 o] b} 100 400 0, 435
ALTAVIGTA 1 100 0,8 ERROR 17% 0.E7 4 = b 100 400
ASHTION 1 100 = ERROR 175 4 Q ] 100 400
ASHTON 1 100 o ERROR 175 4 3 = 100
ARENDTSVILLE 1 100 =] ERRIOR 175 4 B 100
ARENDTSVILLE 1 100 & ERROR 175 4 = 100
ARENDTSVILLE 1 100 Q.E ERRIOR 178 4 18 100
ARENDTSVILLE 1 100 =] ERROR 175 4 0O 100
ARENDTSVILLE 1 100 = ERRUOR 175 4 = ] 100
ATHIL. 1 100 =] ERROR 175 4 0 e 100
ATHOL 1 100 = ERROR 175 4 3 = 100
ATHIDL 1 100 =] ERROR 175 4 = 15 100
ATHIOL 1 100 = ERRIR 175 4 = 15 100
ATHL 1 100 0.3 ERRIOR 178 4 15 ] 100 Z.
ATHIL 1 100 0.2 ERROR 175 4 15 28 100 <.
ATHOL 1 100 Q.8 ERROR 175 4 ] 25 100 20,444
EEDFIRD 1 100 = ERROR 175 3 o] = 100 [ 3
EEDFORD 1 100 0.8 ERROR 175 2 3 o 100 0.
EEDFORD 1 100 2] ERRIR 175 3 2 = 100 O.
EEDFORD 1 100 = ERROR 175 3 ] 15 100
EEDFIIRD 1 100 = ERROR 175 0,37 = = 15 100
EERMUDIAN 1 100 = ERROR 175 Q.37 4 [w} = 100
EBERMUDIAN 1 100 = ERROR 175 0.37 4 0 i 100
EERMUDT AN 1 100 = ERROR 175 027 4 3 k] 100 1,982
BEIRDSEORD 1 100 = ERRDOR 175 0,37 4 o] ] 100 0.435
BIRDSEORD 1 100 = ERROR 176 Q.37 4 2 k] 100
EIRDBRORD 1 100 = ERROR 175 0.37 4 & 15 100

DWMANSY ILLE 1 100 & 4 = 175 Q.8 [ 0 =2 100
EOWMANSVILLE 1 100 = ERROR 175 = O B 100
BRECENCCE 1 100 ERROR 17% ] i = 100
BRECENIC 1 100 ERRUR 178 3 = 15 100
BERECENOC i 100 0 ERROR 175 <] o 15 100
ERECENOCE: 1 100 0.2 ERROR 175 ] o 15 100
BRECENOCE 1100 = ERROR 178 = 15 ] 100 11.720
ERECENOCH 1 100 = ERRUOR 175 ] 1% pt 100 11.7320
ERECENOACE 1 100 2 ERRIOR 178 ] 15 = 100 11,720
ERECENDCE 1 100 = ERROR 178 e =8 100 Z0.444
ERECENOCE 1 100 = ERROR 175 = o 100 11,720
EBRECENDQCE 1 100 = ERROR 175 3 =5 100 B .887
CARDIFF 1 100 =2 ERROR 175 = & 100
CARDIFF 1 100 = ERRIIR 17% ] = 15 100
CARDIFF 1 100 0.2 ERROR 178 ] ] 15 100
CARDIFF 1 100 Q.3 ERROR 175 ] 18 =5 100 11,730
CARDIFF 1 100 [ ] ERRIR 17% = 15 =5 100 11.720
CARDIFF 1 100 0.3 ERROR 175 e 8 35 100 Z0.444
CATOCTIN 1 100 0 ERROR 175 & ] = 100 1.298E
CATOCTIN 1 100 0.8 ERROR 175 = = 15 100 400 .11
CATOCTIN 1 100 0.8 ERROR 178 = 15 285 100 400 11,720
CHESTER 1100 Q ERRIIR 175 4 Q e 100 400 :
CHESTER i 100 0.8 ERROR 175 4 o] E 100 400
CHESTER 1 100 0.3 ERRIIR 17% 4 3 = 100 400
CHESTER 1 100 0.3 ERROR 175 4 e} @ 100 400
CHESTER 1 100 0.3 ERROR 17% 4 3 = 100 400
CHESTER 1 100 (0] ERROR 178 4 = 15 100 400
CHEWACL.A 1 100 [alpp =3 ERROR 175 4 [a] 3 100 400
CONESTOGA 1 100 0,8 ERRIIR 175 4 Q 3 100 400
CONESTOGA 1 100 0.2 ERROR 175 4 ] 3 100 400
CONESTOGA 1 100 0. ERRIOR 175 4 = ] 400
CONFSTOGA 1 100 0.3 ERRIIR 175 K ks o 400
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cocs CONESTOGA
Canz CONESTOGA
CF CONGAREE
CRA CROTON
CRAZ CROTON
CRE
122CREZ CREE
133CVE CVE ROTON
132DUA DUA DUFFIELD
1:33DUAZ  DUAZ DUFFIELD
133DUE DUE DUFFIELD
132DURE  DUERE DUFFIELD
132DUCE DUCE DUFFIELD
132DUDE. DUDE DUFFIELD
DYC= DUFFIELD
EDGEMUNT
EDGEMONT
EDGEMONT
EDGEMINT
EDGEMONT
EDGEMONT
EDGEMIONT
EDGEMONT
EDGEMONT
EDGEMONT
EDGEMONT
EDGEMONT
EDGEMONT
EDGEMONT
EDGEMONT
EDGEMONT
EDGEMONT
EL TDAE
ELIQAE
ELICAE
ELIDAK
ELIOAE

EL IQAE

ELE

ELK

ELE
GLENELG
GLENELG
GLENELG
GLENELG
GLENEL.G
GLENELG
GLENELG
GLENELG
GLENELG
GLENVILLE
GLENVILLE
GLENVILLE
GUTHRIE
HAGERS TN
HAGERSTOKWN
HAGERS TN
HAGERSTOWN
HAGERSTOWN
HAGERSTOWN
HAGERSTOWN
HAGERSTIOIWN
DUFFIELD
HIGHF IELD
HIGHFIELD
HIGHFIELD

ERROR 175
ERRIOR 178
ERROR 175
ERROR 175
ERROR 178
ERROR 178
ERROR 175
ERRIOR 175
ERRIR 175
ERROR 175
ERROR 175
ERRIOR 178
ERRIR 175
100 ERROR 175
100 = ERROR 175
100 .3 ERROR 175
100 = ERROR 178
100 0.3 ERROR 178
100 B ERROR 175
ERROR 175
ERROR 175
ERROR 175
ERROR 175
ERROR 175
ERROR 178
ERROR 175
ERROR 178
ERRCOR 175
ERROR 178
ERROR 175
ERRUOR 175%
ERROR 178
ERROR 175
ERROR 178
ERROR 175
3 ERROR 178
2 ERROR 175
a ERROR 178
- ERROR 17%
=2

=]

a

=}

100
100
100
100

=
i

N A LA
15 100
100
100
100
100
100
100
100
100
100
100
100
100
100
15 100
= 100
15 100
15 100
P 100
25 100
k=] 100
= 100 400
= 100 400
100 400
15 100 400
100 400 B.11%
15 Z8 100 400 11.780
15 Z5 100 400 2,889 11,720
100 400 Z20.444
100 400 0, 1.932
100 400 11,730
100 400 5 44,201
100 400 O 0. 425
100 400 O 1,988
100 400 0. 1.982
100 400 O, G.11%
100 400 0,991 .19
100 400 0,991 H.11%
100 400 0,047 0.435 0.41
100 400 O.287 1.922 0.61
100 400 0,771 f.11% O.al
100 400 Q.287 1.982
100 400 Q.Z87 1.732
100 400 0.Z8 1.982
100 400 0,9%1 B.11%
100 400 0,991 G.11%
100 400 Ba.11%
100 400 11,780
100 400 11,720 0,490
100 400 11.720 0,420
100 400 0.435 0,429
100 400 1.982 0.4
100 400 1,982 0.42%
100 400 0.435 0.3
100 400 Q.435 0,571
100 400 0,435 0,571
100 400 1,982 0571
5 100 400 F.11% 0.571
25 100 : 11.730 0,571
a2 100 1.982 0.871
15 100 B.illw 0.8T1
] 100 11,780 O.871
s 100 11.780 0,871
b 100 1,982 0.4%0
100 B.119 0,470
= ] o 100 1,982 0.4
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123ELCE
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133GCEZ
132GCR=
1336GCC
133GCCE
122GCC2
132GCD
133GCDhZ
133GCDE
133GNA
132GNE
1323GNEZ
133GU
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ERROK 175
100 C ERROR 175
100 Q. ERROR 178
100 0.8 ERROR 175
100 0.8 ERROR 175
100 0.2 ERROR 175 0.
100 0.3 ERROR 1758 [«
100 0.2 ERROR 175
100 0.2 ERRIOR 175
100 0. ERROR 17%
100 ERROR 175
100 ERROR 175
100 ERROR 175
100 ERROR 178
100 ERROR 175
100 ERROR 175
100 ERRUOR 175
100 0.2 ERRIR 175
100 0.8 ERROR 175
100 0.5 ERRIIR 1765
100 0.3 ERROR 178
100 0,2 ERRIIR 175
50 0.8 ERROR 175 (R
50 0.& ERROR 175
100 .8 ERROR 175
100 Q.8 ERROR 175
100 0.8 ERROR 175
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FEHHD  HHD HIGHFIELD
TEEHHD  HHD CATOCTIN
FIHN HN HUNTINGTON
133HUA  HUA HUNTINGTON
133HUE  HUE HUNT INGTON
133LA LA LAMINGTON
133LCEZ  LCREZ  LANSDALE
133LCCZ LCCE  LANSDALE
133LCCE  LCCE LANSDALE
133LCDE  LCDE  LANSDALE
133L.DAZ  LDAZ  LANSDALE
123LDEZ  LDEZ®  LANSDALE
123.DES  LDEX  LANSDALE
133LDCE  LDCE  LANSDALE
._ LAWRENCE
LEGIRE
LEGDRE
LEGORE '
LEGORE
LEGORE
LEGORE
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEHIGH
LEWISEERRY
LEWISEERRY
123LMC LMC LEWISEERRY
133LMCZ  LMCZ  LEWISEERRY
133LMDZ LLMDZ  LEWISEERRY
132LMEZ LMEZ  LEWISEERRY
1332LND  LND LEWISEERRY
133LND  LND LANSDALE
133LRF  LRF LEWISEERRY
133LRF  LRF LLANSDALE
13308 LS LLINDSIDE
1323MA MA MADE LAND
13ZMDE  MDE MADE L AND
133MDD MDD MADE LAND
133ME ME MADELAND
13IMFE  MFE MANOR
133MFEZ  MFBZ  MANOR
13EMFES  MFEZ  MANOR
123MFC MFC MANCIR
133MFCE MFCE MANOR
133MFCE MFCE  MANDR
133MFD  MFD MANDR
133MFDE MFDE  MANOR
133MFDE  MFDE  MANDR
133MFE  MFE MANDR
133MFEE  MFEZ  MANOR
1Z3MFES  MFEZ  MANOR
133MFF  MFF MANDR
133MGEB  MGE MANCR
. 1:33MGDZ  MGDZ MANDR
133MGFZ  MGFZ  MANCR

. 1:33MM MM MELVIN
G 133MNEBE  MNEZ  MONTALTO
1 UMNCE MNCF MONT AL T

70

=0
100
100
100
100
100
100
100
100
100
100
100
100
100

a b AE AT A E L B Rl
ERROR 175 Q.
ERROR 175 0.
ERROR 175 0.43
ERRUOR 17% Q=57
ERROR 175 Q.37
ERROR 175 Q.27
ERROR 175 0O.24
ERROR 1758 0.2

ERRIR 175 0.2
ERROR 175 Q.
ERROR 175
ERROR 178 0.
ERROR 175 0.
ERROR 175 Q.
ERRIIR 175 C
178
175
175
175
175
175
ERROR 175
ERROR 175
ERROR 175
ERROR 176
ERRIR 175
ERROR 175 0.&
ERROR 175 0.
ERROR 175 Q.
ERROR 178
ERROR 17%
ERROR 175
ERROR 17%
ERROR 178
ERROR 175
ERROR 175
ERROR 175
ERRUOR 175
ERROR 178
ERROR 175
ERROR 175 Q

b A A
400 0,991
400 0,921
400 0,087
400 0,047
400
= 100 400
= 100 400 0,237
=} 100 400 0,991
100 400 0,291
25 100 400 .85
e 100 400 0.0&%
b 100 400 0,287
= 100 400 0
100 400 O
100 400 O
100 400 O
100 400 £
100 400 5
100 400 O 0.571
100 400 0,287 1.982 0.571
100 400 .85 11.780 0.571
100 400 0,087 0.435 0.4%0
100 400 =87 1,982 0.4%0
100 400 pac] £ 0.470
100 400 =} 0.420
100 400 0.490
100 400 0,991 0.4%20
100 400 0,991 0.4%Q
100 400 0.4%0
100 400 Q.470
100 400 0420
100 400 Q. 420
100 400 Q. &8
100 400 Q.0
100 400 0,991 Q.
= 100 400 0,991 0.8
=5 100 400 Z.55% 11.780 0.6
100 400 H5.290 30,400 0.4
et} 100 400 0.271 11.720 0,914
=5 100 400 0,991 11.730 0O
" 100 400 5,890 25,3205 0
ERROR 175 Q et 40 100 400 6.384  ZB.205 0.9 1
ERROR 178 0.3 e 100 400 0.43% Q. =
ERRUOR 175 100 400ERROR ERRIOR ERROR ERRD
ERROR 1785 100 400ERRIR ERROR ERROR ERRO
ERROR 175 100 400ERROR ERRUIR ERROR ERRID
ERROR 175 100 400ERRIR ERROR ERROR ERRI
ERROR 175 100 400 e -
ERROR 175 100 400
ERRDOR 175 100 400 L laeEE
ERROR 175 15 100 400 0.9%]1 S
ERRDOR 178 15 100 400 0.9%1 B.11%
ERRUOR 175 1% 100 400 0,921 S.11w
ERRDR 175 25 100 400 2,559 11.720
ERROR 175 5 100 400 Z.55%% 11,780
ERRIR 175 ZE8 100 400 Z.ES? 11,780
ERROR 178 45 100 400 20,400
ERROR 175 400 20,400
ERRIR 175 400 0. 400
ERROR 175 4001 46,301
100 ERROR 175 400 1.982
100 ERROR 175 400
100 0.8 ERROR 175 400
100 0.8 ERROR 175 400
100 0.8 ERROR 178 400
100 0= FRREDOR 175 400
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MONTALTO 1 & ERROR 178 4 = 100 400 L1119 1

MONTALTO 1 = ERRIIR 175 4 15 100 400 11,780 1

MOC:E MONTALTO i o ERROR 175 b ] 100 400 BL,119 1

MSD MONTALTC 1 =] ERROR 17% 4 @ 100 400 11,780 1

MSF MONTALTID 1 = ERROR 175 4 25 100 400 4, 201 1

MTE MONTALTD 1 = ERROR 175 4 e 400 .98z Z

MTD MONTALTO 1 = ERROR 175 4 &= 400 il1.720 1

MTF MONTALTO 1 3 ERROR 175 4 bt 100 400 45,201 07462 1

MUA MOUNT LUCAS 1 ] ERROR 175 Z 4 0 = 100 400 0.435 0.BT1 3

MUE MOUNT LUCAS 1 2 ERRIOR 175 Z 4 I = 400 2 O.ETL Z

MUEZ MOUNT LUCAS 1 ] ERROR 175 Z 4 ] ] 400 O.571 =

MOUNT LUCAS 1 = ERROR 175 XC] e Q = 400 Q. 420 =

MURRILL 1 k3] ERROR 175 e 4 o} k] 400 0.aB3 ]

MURRIL.L. 1 = ERROR 175 b 4 ] = 400 0. &8 &

MURRILL 1 = ERROR 175 = 4 = ks 400 0. AR =

MURRILL = 175 bS] 4 = 15 100 400 [S AT 1

MURRIL.L 1 100 Q. ERRUOR 178 2 4 = 15 100 400 0. 883 1

MURRILL 1 100 Q. ERROR 175 4 Q ] 100 400 = =

MURRILL. 1 100 « 0.2 ERROR 175 4 b= =5 100 400 1

PENN 1 100 Q.2 ERROR 175 3 3 = 100 400 =

FENN 1100 Q.= ERROR 175 = 2 =] 100 400 =

FENN 1 100 Q.8 ERRUOR 175 3 b 15 100 400 1

FENN 1 100 Q.3 ERROR 178 2 a8 15 100 400 ; 1

FENN 1 100 0.3 ERROR 175 zZ ] k] 100 400 Q. 4587 =

FENN 1 100 0.2 ERROR 175 Z o 15 100 400 0,487 1

FENN 1 100 Q.8 ERROR 175 Z 15 8 100 400 0,457 1

FENN 1 1¢ 0.5 ERROR 175 K] (o] = 100 400 [S I Bk} z

FENN 1 100 0.3 ERROR 175 3 ] = 100 400 0.4 =

FENN 1 100 ol ERROR 175 2 2 ] 100 400 Q. e

FENN 1 100 0.2 ERRIR 175 3 = k= 100 400 Q.48 b

132PGEC FENN 1 100 0.2 ERROR 175 ] =] 5] 100 400 0. 435 i
13EFPGCE FENN 1 100 0.3 ERROR 175 2 = B 100 400 [ I Yt 1
133PGCE FENN 1 100 0.2 ERROR 175 ] = ) 100 400 0 F.11% 0.43% 1
1:32PGD FENN 1 100 0.5 ERROR 178 prs 15 = 100 400 2, 5BEC 11.730 0,487 1
133PGEDE FENN 1100 0.3 ERRIIR 175 2 15 43 100 400 2,559 11.730 Q487 1
133PHDZ FPENN 1 100 0.3 ERROR 178 b 15 =5 100 400 2,959 11,780 0,487 1
133PHES FENN 1 100 [al3 ERRIR 175 . Z =5 [ 100 400 S.8990 20,444 0,457 1
123PHF3 FENN 1 100 .= ERROR 1758 ' & ped = A0 100 400102282 44,301 0,457 1
132PME FENN 1100 0.2 ERROR 175 ] e} o 100 400 0,089 VEE 0671 b
133PMD PENN 1 100 Q. ERROR 178 2 b= 25 100 400 Q7271 11.720 0,871 1
1 23FMF FEENN i 100 0.2 ERROR 175 ] ol &0 100 400 5 0 44,301 1
13232FNA FENN 1 () o ERROR 175 3 W] 3 100 400 @ 0. 435 =
132FNA LANSDALE z 0.8 ERROR 175 4 (o} <] 100 400 e
123PNBZ FENN 1 Q.= ERROR 175 e = = 100 400 0287 =
LR2FPNEE LANSDALE = O ERROR 175 4 3 = 100 400 0.287 Z
12ZFNE2 FENN 1 [ ERRCR 175 ] 2 = 100 400 0.287 =
13ZPNES LANSDALE z Q.8 ERROR 178 4 3 b= 100 400 0,287 =
123PNCE FENN 1 0.2 ERROR 17% ] ] 15 100 400 0,921 1
133FPNCE LLANSDALE z [ ERRUR 175 4 = 15 100 400 0.1 1
13ZPNCE FENN 1 QL ERRIIR 175 = = 15 100 400 0,991 1
1RIPNCE LLANSDALE = 0.2 ERROR 175 4 k] 15 100 400 O w1 1
13EBFNDE FENN 1 0.8 ERRIR 178 ] 15 25 100 400 Z .55 1
133FND2 LANSDALE Z 0.8 ERROR 175 4 15 25 100 400 Z.8EY 0.a53 1
133PREZ FENN 1 0.8 ERROR 175 ] 2 = 100 400 0,237 0. 420 =
13Z2PREE READINGTON z 0.3 ERRUOR 175 = = = 100 400 0,287 O Z8a 1
1 3ZFRER FENN 1 .2 ERROR 175 ] k] = 100 400 a7 =
1AZFRES READINGTON z QuE ERROR 175 = i = 100 400 0,287 1
133FRCE FENN 1 0.3 ERROR 17% 2 2 15 100 400 0,991 1
132FPRCE READINGTION = 0.8 ERROR 175 £ = = 15 100 400 Q.971 1
132F8EL FEQUEA 1 0.2 ERROR 175 Q.42 . = 2 100 400 7 1% Z
1322F6CE FEQUEA i 0.3 ERROR 175 Q.42 & = 16 100 400 0,921 Q.37 1
132PSCE FPEQUEA 1 0. ERROR 175 O.43 ] = 15 100 400 0,991 0,319 1
13323FSD2 FEQUEA 1 0.8 ERROR 178 Q.43 ] 15 st 100 400 2,559 Q.21% 1
133PSEE FEQUEA 1 0.8 ERROR 175 Q0,432 2 =5 et 100 400 G890 Z20.444 0,317 1
1:220U MINES AND FITS 1 (g ERRUIR 17% 100 400ERRIR ERRIOR ERROR ERRQ
123RAA RARITAN 1 100 0.2 ERROR 175 2 0 3 100 400 Q. 0a% : 2




AL T AN L B hnlln A e L) - L) A0

RARITAN 1 100 Q. ERROR 175 e ] 100 400 =
READINGTON 1 100 Qu ERROR 175 ] O 100 400 &
READINGTON i 100 Q.8 ERROR 176 ] 2 100 400 P
READINGTION 1 100 (o] ERROR 175 e 3 100 =
ROWL.AND 1 100 0.5 ERROR 175 4 (&} 100 400 Q. 455 e
SCIOTOVILLE 1 100 [x ERRUOR 175 b Q 100 400 Q.43 =
SCINTOVILLE 1 100 ERRIOR 175 ic] = 100 400 1.8 ( 2
STEINSEURG 1 100 Q.3 ERRIIR 175 & = 100 400 L1190 1
STEINSEURG 1 100 Q. ERRIIR 175 = 15 100 400 11,780 O 1
STEINBURG 1 100 0.8 ERROR 175 Z 8 et 100 400 20.444 O 1
STEINSEBURG 1 100 0.2 ERROR 175 E e el 100 400 20.444 O 1
WATCHUNG 1 100 0.8 ERROR 175 ] 0 3 100 400 0.435 0 =
WATCHUNG 1 100 0.8 ERROR 1758 0.43 e i =] 100 400 1.070 O =
WATCHUNG 1 100 Q.2 ERROR 175 0,43 = O ] 100 400 1932 0 =
WEHADKEE 1 100 0.8 ERRUOR 175 Q.49 4 [a] k] 100 400 O 2
WEHADKEE 1 100 0.3 ERRIOR 17% O.42 = e 2 100 400 0O.231% &
WHEEL ING 1 100 Q.8 ERROR 175 Q.37 4 ] = 100 400 =
WHEEL ING 1 100 = ERROR 175 4 ] 15 100 400 i
WHITEFORD 1 100 = ERROR 175 ] 3 = 100 400 =
WHITEFORD 1 100 ] ERROR 175 3 ] 15 100 400 : 1
WICKHAM 1 100 4 ERROR 178 4 e ] 100 400 0,06 0O.474 ]
WICHHAM 1 100 = ERRIR 175 4 ] o 100 400 Q.287 1,982 0,474 Z
WORSHAM 1 100 Q.3 ERROR 175 0.43 = o} K] 100 400 0.06%9 O.425 0,319 s
MURRILL 1 100 = ERROR 17% [ t] 4 = 15 100 400 0.9%1 B.11% 0,882 1




